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(*) Instructions to candidates:

1) Figures to the right indicate full marks.
2) Use of scientific calculator is allowed

[Max. Marks: 60]

vi)If x=e%secv ,y=e%tanv then, —= 3e)
A) e*secv  B)e¥secv  C)etsecv D) e secy

3) Use suitable data where ever required -
@estion Question Description Marks | CO Blooms
No. mapped | Taxonomy
Level
0.1 Solve the following
i) If u=log(x?+y?) + tan™? (%) then the value of % = 2] - 1 R, U, A
2x+y 2x=y l 2y- 2y+x
A) ey x2+y2 )x2+y2 ) W;Z ) x2+y?
ii) fux+vy=0 'E+3 = 1 then the value of (—Z—-;) = [2] 1 R, U, A
x
A x%(x*-y?%) gxz-y ) e x2(x%+y%) D) y2(x*+y?)
) (x2+y2)? x2+;v2)2 ) (x2+y2)2 (x2+y2)2 9 )

ii) Ifu—cat'l(x y)then X +yay 2] R, U A
A) —tan2u B)—sin 2u C) —cos 2u D) —sec2u

iv) If u = log(x? +y® + 2%) then wu,, +uy, +u,, = 2] 1 R, U, A

2
|Memma Phpns C)0 D)1

v) If u = tan™? ( ) then x2u,, + 2xyuy, + ¥ iy = 2] 1 R, U A
A) (cos2u)(1+ 4sm u) B) (cos2u)(1 — 4sin2y)

C) (sin2u)(1 + 4sinu) D) (sin2w)(1 - 4sin2y)

é(u,v) [2] 2 R, U, A




vii) If u=2xy ,v=x?—y?where x=rcosf ,y=rsiné

a@.0) _
then, ) )
1
A) —473 B) - C)-42 D)-%

viii) If £Cx,y) = x® + xy? + 21x — 12x% — 2y? then the
‘minimum value occurs at
A) (7,0) B) (6,0) C) (1,00 D) (20)

ix) If f(x,9,2) = *y*z° and x+y+z =24 then x =
maximum value of their product is
A) 2 B) 4 C) 6 D)8

x) If there is an error of 1% while measuring the base
radius and error of 2% while measuring the height of
a right circular cylinder, then the % error in the
volume of the cylinder is

A) 1% B) 2% C) 3%. D) 4%
xi)f: sin’xdx =
A)0 B) = c) 2 D)2
xii) [*_sinxcos3x dx =
A)0 B)Z C) % D) None of these
xiii) e 2% vx dx = |
R R
xiv) f) 25(1 —vx)7 dx = |
A) B(8,4) B) 2B(8,4) C) 2B(12,8)  D)B(8,12)

xv)The value of a; in the Fourier series Of f(x) = gy
m0< x< 2mis

A) 0 B) -1 C) 5 D) -2
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R,U,A




Solve any two out of three

and its asymptote.

. dy _ __tany-2xy-y 5 R,U,A
a) Solve: dx  x2-xtan?y+sec2y 15]
day _ _¥3
b) SO].Ve: 'd—x - e2x+y2 . [5] R) U’ A
c) If the temperature of a body drops from 100°C to [5] R, U, A
88°C in 10 minutes, when the temperature of the
surrounding is 25°C.
What will the temperature after 20 minutes.
Q.3 Solve any two out of three
a) Trace the curve: xy? = a(x? — a?) (S] R, U, A
b) Trace the curve: r = a(1 + cos 8) - [S] R, U, A
c) Find length of the tractrix: .
x=a(cost+%logtan2-;) ;y = asint 5] R U A
from ;—t to any point t
Q.4 Solve any two out of three
‘a) Evaluate: [[ x® ydxdy (5] R, U, A
2 2
over the positive quadrant of the ellipse: % + :*2 =1
b) Evaluate: [ [ [x*y2zdxdydz over tl';e tetrahedron [5] R U A
formedbyx=0,y=0,2z=0 and §+;,'+;='1 ©
c) Find the area between the curve, y(x — @) = a*(2q —x) 5] R U A




